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1T - I/PART - I
9 f4%E wd RUEneme/ CHILD DEVELOPMENT AND PEDAGOGY
T - Fwirrea ot % a7 @7 @ fg ge8 afed [A#eT gl

Direction : Answer the following questions by selecting the most appropriate option.
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1. fsiEen ¥ S # @@ a1 % R
HAETF &
(1) IfErRem
(2) T e
(3) oTrEr H
(4) THHF HITEX HIA

2. UF AGH F AHOIH eg HEAUE &
HEE T e § § - g
SUYF 78 & ?

(1) goae fareror
(2) TR
(3) US4 STIAEH
(4) Af-HTEoT

3. U%F R & " & fawy § fFrefataa
Y 797 F99 HH-AT & 7

(1) g afyafa aftrm g ofafda
Bt 21

(2) HIT T & g

(3) WO HAT H T WG JII A 2|

(4) GAT 9@ IEGE F A B 2|

4. AR e @ o 2

(1) afFF Rraretl # G FE-H
g g FHAT

(2) fFrT Rl # A wer-w
q QU

(3) aAfFa fr=rarett # fafiree e
q 9 FHE |

(4) T Rarel # 9% W SR
IF T HE|

1.

To cooperate the adolescent it is
essential to

(1) Inspire _

(2) Indicate his mistakes

(3) Criticise him

(4) Do negative behaviour

Which of the following is not a
suitable technique used by teachers
for socializing the child ?

(1) Direct teaching

(2) Identification

(3) Democratic discipline

(4) Over-protection

Which of the following is a wrong

statement about emotions of an
adolescent ?
(1) Emotional expressions are

'modified by learning.
(2)
(3)

Emotions are permanent.

Every emotion is accompanied by
a feeling.

(4)

Emotions are aroused by external
stimuli.

Inclusive education means

(1) Meeting individual differences in
general classroom.

(2) Meeting individual differences in

different classroom.

(3) Meeting individual differences in

special schools.

(4)

Meeting individual differences in
home based instruction.
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(1) farerss &

(2) wer-fyar &
(3) wi-wifyar =
(4) TareEt

BEl S gedt B g w9 & R
frar s we B, A orems

(1) a-ar gt &t and i)
(2) @G I W AR FX |
(3) Wel el & Feitl g |
(4) et # A F|

e favaw afda & 3 drgan oix
P R w0 g B, o @

(1) I STIHT & B |
(2) Sfom ame, Rgower, TeEE oK
gy e |

(3) B IGH FA AR Fmior T

(4) wfcisrar &t g 1 e &)
3 R o M e 221 2 e £ B o

R % gary fafy @
(1) WA=E (2) TGS
(3) woma=®  (4) FEES

frefafeg & @ F9-@1 ovEer &
o a1 0 qeuer F87 e 7

() 99 99 998 & UF THY §ed
e |

(2) fauda R & o smedor 8
(3) W g9 § qy F A

(4) fafere sfeml & Rraw &
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In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups

(4) Films

Moral values effectively
inculcated among the students when
teacher

can be

(1) Frequently talks about values.
(2) Himself practices them.

(3) Tells stories of good persons.
(4) Talks of Gods and Goddesses.

Critical thinking helps a person in
developing abilities and skills for

(1) providing concrete experiences.

(2) proper interpretation, analysis,

evaluation and inference.

(3) creating and constructing

something.
(4) thinking about ways of reacting.
Best method of dealing with adolescent
by parents and teachers is
(1) Autocratic
(3) Democratic (4) Restrictive

(2) Permissive

Which of the following is not a
characteristic of social development in
adolescence ?

(1) Active member of their peer

group

(2) Being an attraction towards
opposite sex

(3) High decrease in friendly
relationship

(4) Extension of special interests
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11.

12.

13.

14.

UF BRI o 9 @Y § FE FH &
3 g o W foeen, 3@ e #@
FT & |

(1) MY FqeIR

2 fFEEEs FFEl

(3) T HEBR

(4) a9 faae wE €

IO A A g @

(1) g5 a4
(2) TRl & o foraw A

(3) Wl gE (F%d) g &
(4) TR TET FE

‘Had oiR &AF YIiF (CCE)

92

(1) a9 qH B THAH B GEHBT
HET |

(2) fara & @it g'll H g BT |

(3) FA@ B % FH P TodidT H |

(4) P B F GUHA PN TAIH B |

Frefofad & & #A-@ goToE o

P fadwar (Iraa) 787 & °

(1) fern

(2) iR

(3) fagm

(4) I .

st ufewe 1 Al
(1) 9% » @Fer § 89 g Rad | -

(2) farers @ Rror gt § oftad=
(3) WIEHAER] H GRHAWH |

(4) wrggaR] & T B

Level-3/169

(5)

10.

11.

12.

13.

14.

Continuous

Newjbsinfo.in

A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the
problem of

(1) “Speaking accurately

(2) without

Writing committing

mistakes
3
(4)

Listening message properly
Doing mathematical calculations

and  Comprehensive

Evaluation (CCE) aims to evaluate
(1)
(2)

The reasoning of child only.

All aspects of development of
child.

The knowledge of child only.

The understanding of child only.

3
4)

Which of the following is not a trait
(ability) of a creative child ?

(1) Elaboration
(2) Originality
(3) Accuracy
(4) Novelty

Learning outcomes means
(1) Change in the behaviour of the
student.
(2) Change in teaching method of the
teacher.
3)

Recognization of the subject-

matter.

4

Completion of content.
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16.
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18.

w1 T frg Ay A ® 7

(1) 9 % 59 & g9
) e & ARE

(3) Frelraeer & &R
(4) FTEHEEN F AR

T B T R A
ﬁtrfgﬁqaﬁﬁaﬁﬂ-mmmw
TR ?

(1) 391 qrgarstt & e 8 =Ry |

(2) IUgH G SR arEl Iuee FE
S e |

(3) 3% RfeTa (F9) #¢ 3 =iy
(4) aﬁrmaﬁaﬁmﬁ@m

Fremdt & @rr, Ry w7 ¥ sraumEitg

Rl & A #d &9 qug 4 oRg
TErR ?

(1) SAETHE IR
(2) SSIIIERE SRy
(3) wfed IurM

(4) st Iurmy

ST w wewwe g @
faes e 2
(1) 919% 3 FE-eTE e o

(2) a9F & G Ae §
(3) IF P ARG g &
(4) W%ﬂiﬁgﬁmﬁiﬁ_mﬁ
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Differentiation of emotions takes

place at the time of

(1) Birth of child

(2) During infancy

(3) During the period of adolescence

(4) During adulthood

Which of the following provision is

to meet individual

differences among learners ?
(D
(2)

not suitable

Their abilities should be assessed.

Adequate facilities and material
should be provided.

3
4

Labelling them.
Making Individualisation necessary.

with
particularly maladjusted one, which is

Working adolescents,

not appropriate ?

(1) Critical approach

(2) Democratic approach |
(3) Collective approach

(4) Ideal approach

Heredity plays most important role in
the

(1) Emotional development of the

child
(2
(3)
(4)

Social development of the child
Physical development of the child

Cultural development of the child
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20.

21.

22.

UF IS IS 3 fou e 3 e
F AFER SETE &, e

(1) Y STHAMET T @ H HErE
forerelt 21

(2) UegaR] B T=H a9 A e
Prrerelt 2 |

(3) UEHER] # WG qd® 4 quEH |
Herdr e B

(4) THY 99 A FEd Al B

TER TER & qheen @ e |
q P8 e 787§ ?

(1) fEeEar (2) aggfed
(3) = (4) T

FfifeaEEr e @ Frefafeg § |
H-81 I & ?

(1) BEF &)1 AN & e §9E,
frepd feerr ot orow femei &l

T HEA |
(2) 79 FEgfTe, AR R O 2|

(3) HAYH SNAFRE FH BE @
TFART H 2|

(4) BE ‘FEY I P q@ed 2 |

frfafeg & & #9-@ ofrm &1 &
qHeRd a1 gfaied ot & gt
fm 2 7

(1) 9EF #1 M|
2) oTHrE &1
(3) T F fram

(4) "Rt & FEm
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The

learning is must for a good teacher,

knowledge of principles of

because

(1) It helps in maintaining discipline.

(2) It helps to make content
interesting.
(3) It helps to understand the content

by simple methods.

It saves time.

4

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity
(3) Validity (4) Subjectivity

Which of the
characteristics of

the
constructivist

following is

classroom ?

(1) Students
draws conclusions and compare
their findings.

design experiments,

@

Knowledge is objective, universal
and complete.

(3) Teacher transmits authoritative
knowledge to students.

Students look for
answer.

(4) the 'right'

Which of the following is the primary

law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition
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24,

25,

26.

27.

(8)

s & ogar awe gt AP
el WoAibE fEw 9 we §
g & e ¥, 7w Prefeie 3
q H-41 oty § dar & ?

(1) v framTs sty

(2) T B erafy

(3) To-Frarers omafy

(4) 37 i srafy

U qh FH GoAHEA B @ Sad g,

SRS Il IeH B oqur @i
foepre 1 & R &, 98 IaAT ¥

(1) 3= JafFTs =Y

(2) ST JRF oY

(3) g =T

(4) 999 7 afE T

I8 AIRE TEEE a9 S R FaEK

P AT P, FRRE B qA g9
@ B 99 F B, FEedl B

(1) s (2) srfdemom

(3) g (4) AR

FB A AU AT F omEe § s
Bl 9§ Hife I I

(1) i @Ry (1.Q.) &t )

2) A ey (A.Q.) Bt B

(3) Wil @fey (£.Q.) &t &1

(4) seionss @fer (S.Q.) it B

faE e R q g 2 e o
BT &, g &1 78 frera eam @

(1) faured § wawmdia

(2) MEFERRET (=T § ==t # oR)
(3) " 4 fafdme

(4) farurEg

23.

24,

25,

26.

27.

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high
in academic achievement, poor in
social development. This is
example of

an

(1) Inter individual differences

(2) Intra individual differences

(3) Individual differences

(4) Measurable individual differences

That internal state of mind that

arouses, directs and maintains

behaviour is called as

(1) Interest (2) Opinion

(8) Attitude  (4) Motivation

Some people adjust easily with new
people because they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head to foot, this principle of
development is called

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific
(4) Cephalo Caudal

Newjbsinfo.in
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28.

29,

30.

uF B ae gher & fow e ufed
F @ B IED far A I OB oF
AN W AeTEEihd 39 @ am fE g
TqE g &

aftrmedt @fed SurW @ T #
frfefag & & Y #99 7T ¢ d8 ©

(1) & Sferedl @1 draaret, sHaret
A st A @ & T B

(2) & AN, ST R @S %
e 9T 99 ol 2|

(3) e NAEH EN SR B A
T 9T §eF T 2 |

(4) T& STIHESTH-T, THE-FHEN,
IUGI-AHRE a9 el -aa
St fafet @1 T e 2

G el d waEE qE H@” T

JfEfl @ T= d FEER B M
Fed § 7

(1) SATRHSAT

(2) G
(3) STHEIH

(4) 9I=EA

(9)

28.

29.

30.

A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation
(2) Extrinsic motivation
(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

Which of the following statements is not
correct about learner centred approach ?

(1) It takes into account learner's

capabilities, capacities and

learning styles.

It stresses the importance of

(2)

enquiry, observation and

investigation.

(3) It emphasises  transmitting
knowledge to the learner by the
teacher.

(4) Tt uses methods like experiential

learning, problem solving, concept

mapping and creative writing.

A child's attitude 'I do not care' is a
type of behaviour which can be
called

(1) Aggression
(2) Defence
(3) Denial

(4) Retrogression

Newjbsinfo.in
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T - I/PART - II
A1 - 1 (f&=d) / LANGUAGE - I (HINDI)

ﬁfw.-ﬁw%@aﬂsﬁa?aﬁ??#%ﬁumaﬁﬁﬁwgﬁm
31. o7y faFe # qe=g 36 ‘aR g 9@ @ § o geRr e gww@
(1) fwfE = fgg + e T 9 2 7l F B
(2) JEER = Taq + o1 (1) STE= ST
@) af =99 + & (2) BRI T
(4)3‘1711=rm=ﬁ=n+w (3) (:iﬁ-:qw
32. ‘A’ g/ ¥ -1 ye@g @ L ? (4) TPl A
1 7 (2) 37. ‘T o afEed = & wf § gan
@ = @) o B - % fe gw o= R
33. ‘a& ford WX Ewam fRar oA - 3 Ry - 3
TF 9 g (2) FHA
W) SR (3) ¥ g
(2) T
(3) T ) Fig
@ St 38. %O o= # wOW & e @ Rl @
dly e, ofg R aRa w@m e
34. ‘S A T A Y Py wE o — T ?
% fow o gz ? (1) wPE
(1) ge (2) FEd
(2 R (3) @y
(3) wifaaferssr (4) @HER
@ 39. b9 9= § ‘A gom W WM gm w9
35. Fre7 o=l § @ - o= @@ ? q T ?
(1) Ty (1) o
(2) fEmeg (2) Hret
(3) IEY (3) U
(4) 9 (4) HEE
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40.

41.

42,

43.

44.

F @ @ gE gl W g A
b oEREIR CRERIET B

(1) Tt o

(2) M 94

(3) HEH qd

(4) g ga

T FT gite § T 9= F1 8 7
(1) =g

(2) HgaTEE Gl

(3) g

(4)9{!,@

-1 IR ‘O F WiEar 787 ¢ 7
1) Fds

(2) s

(3) =Y

(4) fafor

A’ = H gel A o

(1) TE+a

2 & + o

(3) To + o1

4) M +3

1) Al + g

2) A + g%

(3) AqM + @T

(4) A + FET
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45.

46.

47.

48.

49.

= &t ‘@ @fy amET &t 3 § B
(1) STIToT-THTy

(2) HEST-gH

(3) STEHTT-STS

(4) WETITI-37HIY

qEee’ 9= H IugEd HHE FOFEA
BT

(1) fadar agsy

(2) T Fgew

(3) I TgET

(4) =gdl TG

% @ 9, do, apE’ — A B
fow @a? st @1 =T FfIg

(1) W& & o & fager

(2) T4, 09, TFS F O HAR g 2
(3) STETE awgs @ & I

(4) Teedt & wEET ¥ BE S

et T 9= ®
(1) g

(2) gaw

(3) TAi®

(4) faca
erggwt’c‘ﬁ#r H gH
(1) omf-arrd

(2) SHA-HHEHd
(3) SHte-frefres
(4) STIU-IET
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50.

51.

52.

53.

54.

‘rare’ e T &7 g B 7

(1) STt

(2) S

(3) st

(4) &=

eI R
WM % o afT a= #1959 &

(1) =

2) =

(3)

(4) ST

P o= 4 Farg @9g @ w78
gam § 7

(1) FRER

(2 wEmd

(3) et

(4) FAHTA

A & F: YRR @ & ?
(1) R |
@ 9

(3) dm

(4) ST

fpe sz ® fomet | @1 gam 7] g3t
7

(1) THHUEH

(2) s

(3) I

(4) gedEr

.............
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55. g acl A AR BieT

(1) Faards
(2) Fifte

(3) wiHiH
(4) wroHIRHE

FRST : R e # gesv 5a g7 oreiia
g8 7 77 (797 7Ew 56 | 60) F Fav Ao -

wE q T FB T g ¥ wWow B A
IREe & AR g @ g B

Ma dieast @ Ffawg ARt @
Rty Sufeel & & & T oY 5 AR A
F 8 9 4| EER @l g fow g= 3 99
o e # Ry B B 3 wg e g
dw o # far A e wo w Rl
e EE & ' H Ane o ol qerH
eE 3 gielwms diaen & 9 et
fodm = R G gw @ie Ry #@ w©
q| o gRfEH wd o HuE gem At o
FAT-HETe=T F G ARG & ASriad qoma
P R 99 | TAR @ F R e g



AR B A A A A HE b T g
gl R Sy & gae Rrer # el @ 9
W e oA olR g we i & €2
wRel | oMd FAOT T & | AR T

¥ 3 39 g Gufed @ T fF 3 gUE 9ud
% W § 3@ §9d e |

T2 e & ARG O # G ¥ | I
FH FoAE N BISH e el B AN IYW
g ¥ g e i @ JEEE g ¢
A gfEEE # AR KT HW T
Q@ T A1 o e & e 1 s
7| qRad iR oReee @ @ dem @ A
g T OTOU B AWM W FB T qEw
g R g R gufom e oo ot
AT @ 2

Tl g @ & B ol B P =
el # @mEeT g IS 98 Wy T
e 78 & 5 |yl off ol ageiva wuw
FdaT @Y B ST | WA qRd § Sy
wd AfeFar & T W TS oTd B Hedk |
el HC T A e aF T 81 & a®
Rt ol erdiex o oM @ Wow A g ©

Afed T B U A B foF 2T & R ol

WU 1 eEihd oY degar Al HT
a oTEYEE ¥ Wy IEH [ 9 g8 § fF wuw
F 3F q I7Emed R S
56. WA G $ fAdwar &

(1) = qREns

(2) Uy fade

(3) YU & Ty qRacH

(4) Tt e T €

(13)

57. e g= fae &
() BT TEE
(i) HEEN GSRE &
(ii) o7 e &
(iv) gfte fwas aREe &
Sfea I faseq # gT ¢
(1) @) W (@iv)
(2) (i) T (iv)
(3) Fa9 (i)
(4) I (ii)

58. NG & USHIAE TUNel &l ofaeH

(1) & A (2) gt A
@ FH A () A A

Ryt § wrard §
(1) A

2) farg

3) e

(4) wfeH He4

59.

AT aRd 7 Aifew e §
(1) iR

(2) U F M

(3) ST & Heul H @l FHM
(4) TR AR FErE

60.

Level-3/169

P.T.O.



(14)

HIT - III/PART - 111

ST - 11 (S H)/LANGUAGE - II (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.

61.

62,

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

I suddenly realized I (watch).
(1) am being watched |
(2) have been watched

(3) am watched

(4) was being watched

I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity

(2) Determination
(8) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is
given :

Copi.......... = Plentiful

Level-3/169

64.

65.

66.

‘I don't enjoy going to the dentist.
The

sentence is a/an

word 'going' in the above

(1) Present participle
(2) Infinitive
(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence :

Mother said, "Don't go to the park."
(1) Mother asked us not to go to the
park.

(2) Mother told us not to go to the

park.

(3) Mother said us not to go to the
park.

(4) Mother said to us to not to go to
the park.

Which of the following expression

means 'extremely happy' ?
(1) be a basket case

(2) fall off your perch

(3) be off your trolley

(4) on cloud nine



67.

68.

69.

Choose the correct passive

construction of the sentence :

Auctioneers will sell the painting at

auction.

(1) The painting would be sold at

auction.

(2) The painting will be sold by the

auctioneers at auction.

(3) The painting will be sold at

auction.

(4) The painting will be selling at

auction.

Identify the figure of speech in the

following sentence :

I must be cruel, only to be kind.
(1) Epigram

(2) Paradox

(3) Analogy

(4) Metaphor

Which of the following words is mis-

spelt ?

(1) incongruous
(2) chronological
(3) synchronus

(4) sympathetic

Level-3/169
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A

Direction : (Q. Nos. 70 to 74) : Select the

sentence that is grammatically correct :

70.

71.

72.

(1) My brother is the student in
Mayo College.

(2) My brother is student of Mayo

College.

(3) My brother is a student in the

Mayo College.

(4) My brother is a student in Mayo

College.

(1)

Neither of them were present

there.

(2)

Neither of them was present

there.

(3) Neither of them present there.

(4)

Neither of them are present

there.

The roses smell sweet.

(1)
(2)

The roses smell sweetly.

(3)

The roses are smelling sweetly.

4)

The roses are sweetly smelling.

P. .0



73.

74,

75.

(1) You certainly did not ought to do

it

You certainly ought not to have

(2

done it.

(3) You certainly did not ought to

have done it,

(4) You certainly ought not to have

been done it.

(1) Who was the book given to ?

(2) Who the book was given to ?

(3)

The book was given to who ?

(4)

Whom was the book given to ?

Choose the

transcription of the word 'Locate’

correct phonetic

(1) /Nuket/

(2) /lokeit/

(3) Nou'keit/

(4) /Nauket/

Level-3/169
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76. Choose the correct direct speech of

7.

78.

the given reported speech :
He said I'd better go because it was late.

(D

He said, "You'd better go because

it's late."

(2) He said, "I'd better go because it

was late."

(3) He said, "You'd better be gone

because it was late."

He said, "You'd better go because

(4)

it was late."

Which of the following is spelt

correctly ?

(1) Pediatrician
(2) Padritician
(3) Pedaitrician

(4) Pidiatrician

In which of the following sentences do
we need to insert the definite article
‘the’ ?

(1) They are all busy growing things.

(2) We do not generally speak of

farmers 'growing animals'.
(3) Why do people work ?

(4) They are different from rest.



79. Which of the following sentences is

correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said I

am too young.

My father put his foot down when

I said I wanted a car for my

3)

seventeenth birthday. He said I

was too young.

(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time

(4) Adverb Clause of reason

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions

by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/169
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A

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without it ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
absence of all

requisites is the utter

pretension.

The wvulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of
mental instinct, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot pronounce on what we do not
know; and on the other hand, the laying in
of a stock of knowledge, or mastering any
art or science seems to destroy that native
simplicity and to warp and trammel the
is

unbiased freedom of mind which

necessary to its receiving and giving their

due weight to ordinary and -casual
impressions.
81. Common sense is a rare and enviable

quality because

(1) Its price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

P10,



82.

83.

84.

85.

What is not a requisite of common
sense ?

(1) the utter absence of all
pretension

(2) bigotry and narrow minded
notions

(3) truth and propriety

(4) an unbiased freedom of mind

Which of the following is not stated
by the writer in the passage ?

(1) Affectation destroys common
sense.

(2) Common sense requires the
utmost simplicity and sincerity.

(3) Common sense feels the air of
truth and propriety as the fingers
feel objects of touch.

(4) Common sense destroys the
native simplicity and warps and
trammels the freedom of mind.

Fill in the blank with the most
appropriate word :

Common sense has been well
pronounced to be ‘fairly worth the

(1) Notions (2) Sciences
(3) Talents (4) Wits

Which i1s not a synonym of the word
'pedant' ?

(1) dogmatist

(2) formalist

(3) perfectionist

(4) down-to-earth

(18)

Direction : (Q. Nos. 86 to 90) : Fill in the
blanks with the most suitable option :

86. ........... child should learn to read and
write,
(1) All (2) Every
(3) Whole (4) Both

87. Can I ask your ........... , do you think

TV violence is harmful ?
(1) opinion (2) favour
(3) question (4) advice
88. Where is my wallet ? I left it .............
the kitchen table.
(1) at (2) in

(3) on (4) by

89. Take some medicine and the pain will

- ;
(1) back (2) off
(3) out (4) away

90. The walkers finally arrived at their
destination. They ............. all day, and
they certainly needed a rest. They ......
thirty miles.

(1) had been walking; had walked
(2) had walked; had been walking
(8) walked; walked

(4) have been walking; had walked

Level-3/169
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HIT-IV/PART -1V

7 / GEOGRAPHY
AT : Frefarea e % g @7 % g g98 S [ET g

Direction : Answer the following questions-by selecting the most appropriate option.

91.

92.

93.

1 &1 gAfea #ife ¢
TEE J&T%
(i) M Ed  (a) o WFS
(i) Fd R (b) THUfEd 29 &
ST 3t o
(iii) 9T BT (¢) UHEWAYH I
ERIpIE
(iv) REE eRefie (d) AHIEd
LEIIRICE IS
ggHe R
(1) (11) (111) (iv)
(1 (a) (b) (c) (d)
(2) (@ () (b) (a)
3) (b) (a) (d) (c)
“4) © - (a (d) (b)

Tl o A e A Py @

(1) o warr 3§
(2) 39 yarT ¥
(3) &°f W |
(4) SENTT 9ATT H

FE-d 994 g9EE @ B
THFEFI Fadl & 7

(1) A g
) q-FEq g
(3) T qa
(4) T A

Level-3/169

91. Match the following :

92.

93,

. (iv) Richard.

Writer Book
(i) David Harvey (a) Die Erdkunde
(i1) Carl Ritter (b) Perspectives
in the Nature
of Geography
(iii) Peter Haggett (c) Explanation
in Geography
(d) Locational

Hartshorne - Analysis in
Human
Geography
@) (1) (111) (iv)
(1) (a) (b) (© (d)
(2) (@) (c) (b) (a)
(3) (b) (a) (d) (©
“4) (@ (a) (d) (b)
River = Alakhnanda joins river
Bhagirathi at

(1) Vishnu Prayag
(2) Dev Prayag

(3) Karn Prayag

(4) Badrinath Prayag

Which type of winds run almost
parallel to isobars ?

(1) Monsoonal winds
(2) Geostrophic winds
(3) Local winds

(4) Planetary winds

P.T.0.



94,

95.

96.

97.

98.

frffag & § #9-d1 @ @ g=q
g3 AANH AW & 7

(1) Feeirar s

(2) IRGGT A

(3) UIRAT 3t

(4) IS AR

ARAG T e ¥ P-4 S
4 SdE gie & RS S T
o ?

(1) 1891-1901 (2) 1901 - 1911
(3) 1911-1921 (4) 1921- 1931

gEl X o wd wad T R
forg - o & et & 7

1) eongfE  (2) SR
(3) g (4) STEqLH

Frfoie B wemrrm arrel § @
B Fgaq TBRX A 2/ 7

() ST-gE A AR
(i) 9 fagaadE am
(iii) Eferell qHeRE ar
(iv) afoT-uf¥em Al o
M @), @) M (i)

@ @), @) AR ()

(3) (i), (i) R (v)
(@) (), Gi),- (i) X (iv)

FEilE g O S I S §

(1) S e FR 3 32r
2) qef @ B # ger
3) famameT® <e R 3 @R
(4) w9 fopeq T
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94.

95.

96.

97.

98.

Which among the following is the
world's largest inland water body ?

(1) Lake Victoria

(2) Caspian Sea

(3) Lake Superior

(4) Aral Sea

In the Indian Census History, in
which decade the population growth
rate was recorded negative ?

(1) 1891-1901 (2) 1901 - 1911

(3) 1911-1921 (4) 1921 - 1931
The last and most recent Ice-age on

the earth is associated with which
geological period ?

(1) Holocene
(3) Pliocene

(2) Pleistocene
(4) Miocene
Among the following Indian Ocean

currents which is/are seasonal in
nature ?

(i) North-east monsoon current
(i) Counter equatorial current
(ii1)) Southern equatorial current
(iv) South-west monsoon current
(1) @), @) and (iii)

(2) (i), (1) and (iv)

(3) (i1), (iii) and (iv)

(4) (i), (i), (ii1) and (iv)

Earthquakes and

Volcanoes are found along

Maximum

(1) Constructive Plate Margin
(2) Conservative Plate Margin
(3) Destructive Plate Margin

(4) All options are wrong



99

100

101

102.

103.

Leve

. BIA-G1 T ARG & A GAEE AR
F oM A HfF Ifed FT 8 ?

(1) JAT &9
(2) oY 93
(3) " YR
(4) oI
. 94 % OFER 3AEdl @ SHEed fawg §
[aiE & Ud 36 a1
1) g @ (2) giam ¥
@) = 2 4) T B
. BE-G1 Seenfg el oeeng @ |y
qEg-fafr SR w8 ?
1) g8 @ T
(3) WA (4) &
fr=1 @ gafoa iR ¢
FITART By 97
() = (a) MR
(ii) @& (b) fRfeTd=
(iii) 9 (c) wafdmm
@iv) afar (d) e
@ (i1) (iii) (iv)
1) (a) (b) () (d)
2 @ () (b) (a)
(3) (b) (a) (d) (©
4 (0 (@ . (@ (b)
Tl F e T
(1) SE-H F JhaH, HAHEE 96
ST, TR T, G I &
(2) TH-H H OJHAE, W aW, ST
A, GAH I B
(3) HRF &G M, VT gEAT TS,
ST T, G I B
(4) TH-AT H , SRS A
I, =T bl I, GAH I
El|
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99.

100.

101.

102.

103.

A

Which State produces more than half
of the total soyabean production of
India ?

(1) Uttar Pradesh

(2) Andhra Pradesh

(3) Madhya Pradesh

(4) Rajasthan

According to religion Christians have
largest population in the world and
followed by
(1) Hindu
(3) Buddhist

Which tribe does barter trade with

(2) Muslim
(4) Jews

Pygmies ?
(1) Bushman (2) Bantu
(3) Masai (4) San
Match the following :
Shifting Country
Cultivation
(i) Chenna (a) Myanmar
(ii) Ladang (b) Philippines
(iil) Kaingin (¢) Malaysia
(iv) Taungya (d) Sri Lanka
@) (i) (ii1) (iv)
(1) (a) (b) (c) (d)
(2 (@ (c) (b) (a)
(3) (b) (a) (d) (c)
4) (© (a) (d) (b)

The hazardous effects of earthquakes
are

(1) Loss of Life and Property,
Occurrence of Flash Floods,
Fires, Origin of Tsunamis

Loss of Life and Property, Heavy
Rainfall, Fires, Origin of
Tsunamis

Occurrence of Flash Floods,
Severe Drought, Fires, Origin of
Tsunamis

loss of - Life and Property,
Occurrence of Flash Floods, Origin
of Cyclones, Origin of Tsunamis

P.T.O.
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(3)

(4)



A

104.

105,

106.

107,

108.

109.

we et e 3 ogar el

LS O S L 36 s 2

FEE B8 7 _

(1) ddg Ha&+g gr

(2) @ T FeH B A TEEE
ST

(3) TS AR & W -9 &
B ST T

(4) | faeq W@ ¥

F-a9 % U B pH Ted TR 2

Ed
ER|

() 077
(2 79 14
(3) 09 5.6
4) 038 14

= d 8 #9-d1 arwaraie dea

TETe?
(2) TPy

(1) faa
(3) E @ (4) ey

= & & F9-91 78 g0 o9F Swe
T g ?

(1) s (2) 9T

(3) B9 (4) 87

IUEY @ F AT PA-G1 BT B
F e @ & B9 H SE oS o ?

(1) 9917 e
(2) P T&T
(3) el
(4) €9 T

U sEEn i (20000 ¥ 2010 7F
M= od d fFEd 100 wigeE Sl @
g @ T ar ?

(i) o USiEA

(i) 9g geitgs

(iii) oI TR GoligT

(iv) f3arE geige

(1) @), Gi), (i) 3T (iv)

@) (), () AR (Gv)

(3) @), (i) 3 (i)

@ (@), (i) i (v)

Level-3/169

(22)

104.

105,

106.

107.

108.

109,

According to Plate Tectonic Theory
which force/forces is/are responsible
for plate movements ?

(1) Thermal Convective Currents

(2) Gravity Gradient between Trench
and Ridges

Push exerted by the crust at
Constructive Margins

All options are right

(3)

4)

pH value of water of acid-rain is
ranging between

(1) Oto7

(2) 7to 14

(3) 0tob.6

(4) Oto 14

Which one among the following is not
intrusive feature ?
(1) Sill

(3) Lava plug

(2) Laccolith
(4) Batholith

Which of the following planet is
having largest number of satellites ?
(1) Saturn (2) Mars

(3) Uranus (4) Neptune

During colonial era which canal was
popularly known as 'life line of
Britain' ?

(1) Panama Canal

(2) Kiel Canal

(3) Ludwig Canal

(4) Suez Canal

The National Population Policy (2000)
targeted to achieve cent-percent
registration in the following by 2010
(1) Birth Registration

(i) Death Registration

(ii1) Pregnant Woman Registration
(iv) Marriage Registration

(1) (1), (i), (ii1) and (iv)

(2) @), (i) and (iv)

(3) (1), (i1) and (iii)

(4) (1), (iii) and (iv)



110.

111.

112,

113.

114.

115.

FE-T1 TE U & G Y T U
fadie gofe e & ?

(1) g9 2 I

(3) I&T (4) gewfd

AR Reriss @1 A199 foar s @

(1) 9-8dE T

(2) WA TE TT W

(3) argved § 480 fHemiier # Har
°E g

(4) agHvsd H 840 frardey @ o
q’{ i

fasg @1 e ©g Z0@ TS 2
(1) frEwEa (2) Sgie
(3) $qY (4) Fremsfewar

frfafead & @ @9-8 -ToqrET et
T ¥ 7

() G S

(i) a9 Sl

(iii) ardra FHefi

(iv) SR S

(v) |

(1) @), @), @ii), @Gv) dR (v)

@) @), Gi), (i) 3 @v)

@) @), @), (v) IR )

@ @), @), @) T (V)

HIE WETAlN & Haius 9F Sded
FA a1 39 HA-TT & 7

(1) &= (2) TS

(3) fre (4) demtear

103° ¥ 143° & & B SRRl
% fow BET 89 2 7 L

(1) et ot

@) fadms aaf

(3) wraftp wg fachias o<t

(4) aft faweg o
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110.

111.

112,

113.

114.

115,

A

Which planet rotates' on its axis
opposite to other planets ?

(1) Mercury (2) Venus

(3) Neptune (4) dJupiter

~Solar constant is measured at

(1) Earth surface
(2)

(3)

Méan Sea Level

480 km above in the upper
atmosphere

(4) 840 km above in the wupper

atmosphere

Iron and Steel Capital of the world is
(1) Pittsburgh (2) Detroit
(3) Duluth (4) Philadelphia

Which of the following are non-
conventional energy resources ?

(1) Solar Energy

(i) Wind Energy

(iii)) Geo-thermal Energy

(iv) Hydro-electricity

(v) Tidal Energy

(1) (1), @i), (i), (1v) and (v)
(2) @), (1), (1) and (iv)

(3) (), 1), (v)and (v)

(4) (1), (i), (iii) and (v)

Which is the largest tea producing
country of Africa ?

(1) Kenya
(3) Egypt

103° to 143° is a shadow zone for
which seismic waves ?

(2) Nigeria
(4) Tanzania

(1) Primary Waves
(2) Secondary Waves
(3) Primary and Secondary Waves

(4) All options are wrong

P.T.O.



A

116. ween e sm@ fFed o &

117.

118,

fer us HewEqel giftaa o ® 7

G) fofr g

(i) TS Gl

(iil) FEE IR F WL T SEEE
%l oy

(iv) g GTE

(1) @), (i), i) M (v)

2) (), (i) 3T @)

(3) (i), (iii) 9 (iv)

(@) @), (i) T (Gv)

T B gaferT g -

(a) BT () ddE e
s

(b) B (i) @t i
Rrara

(c) WIS (iii) I Haed
IRV EA L

(d) 3 (iv) WeTaNy fhaed
e

(1) (ii) (111) (iv)

(1) (a) (b) (c) (d)

(2) (@ (©) (b) (a)

(3) (b) (a) (d) (c)

4 () (a) (b) (d)

frr & § R omresTed ufter § e
fopar ST & 7

(i) SA9EY

(i1) SYET

(iii) &y

1) @), Gi) AR (i)
2 @ AR (i) "=
(3) (i) 8% (iii) 5=
(4) () R (iii) 7=
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116. Population Pyramid Diagram is an

117.

118.

important statistical diagram for the

comparison of

(i) Sex composition

(i1)) Employment structure

(iii) Status of population change and
Age of the population

(iv) Age structure

(1) (1), (1), (1ii) and (1v)

(2) (@), (1) and (iv)

(3) (i), (i) and (iv)

(4) (i), (iii) and (iv)

Match the following :

(a) Kober (i) Thermal
Contraction
Theory

(b) Holmes (1) Geosynclinal
Orogen Theory

(c) dJeffreys (ii1)) Thermal
Convection
Current Theory

(d) Daily (iv) Continental
Sliding Theory

@) (i1) (111) (iv)

(1) (a) (b) (©) (d)

(2) (@) (c) (b) (a)

(3) (b) (a) (d) (c)

(4) (o) (a) (b) (d)

Which among the following are
included in Denudation Process ?

(i) Weathering

(i1) Erosion

(ii1) Deposition

(1) (1), (1) and (iii)
(2) (i) and (ii) only
(3) (ii) and (iii) only
(4) (i) and (iii) only



119.

120.

121.

122.

123.

Frfafad & & -8 R & R
ARG & $ad U o9 A 9/ Sl & 7
(1) Hage

(2) ST

(3) ST

(4) a+ft fompeq T 2

e o A s
@ frafed gl 4@ e g
FEA &

(1) e wmer 9

(2) o T A0

(3) Rvs g

(4) |ft foepey T @

W%W%Wﬂﬁﬁ?ﬂﬁﬂﬁﬁ
g2 7 ®

L]
&

H

(1) i T4
(2) A T
(3) FTEIEERT G
(4) frg
AT FTE T &
(1) 78 % F4 3w
(2 91 3 FE
(3) feue 3 # &
(4) TFRE @&l 3 & a
ey @ gaferd i ¢
g7 IF
(A) " () Prefimm
(B) fadas (i) FETTEE
(C) geira® (i) S
(D) =qd® (iv) <HEEH
(i) (ii) (iii) (iv)
(1) A (B) ©) (D)
@2 D), (©) (B) (A)
3) B (A) (D) ©
4) (©) (A) (B) (D)
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119.

120.

121.

122,

123.

A

Which of the following hill is spread
only in one State of India ?

(1) Satpura

(2) Ajanta

(3) Aravalli

(4) All options are wrong

Volcanic cone which is formed with
volcanic ash and tephra, is called

(1) Basic Lava cone

(2) Acid Lava cone

(3) Cinder cone

(4) All options are wrong

The largest river of the world in
terms of volume of water is

(1) Nile River

(2) Amazon River

(3) Yangtze Kiang River

(4) Indus River

Plunge Pools are formed by
(1) River action

(2) Wind action

(3) Glacial action

(4) Sea-wave action

Match the following :
Epoch

(A) Primary

(B) Secondary

(C) Tertiary

(D) Quaternary

Geological Period
(i) Cretaceous
(i1) Carboniferous
(ii1) Pleistocene
(iv) Pliocene

@ (it) (iii) (iv)
(1) (A) (B) (©) D)
2 (D) (©) (B) (A)
3) (B) &) D) ©)
4) (©) (A) (B) (D)

P.T.O‘
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124,

125.

126.

127.

128.

qMa [ gEdie (a4 2012) @
gimar & AR AF4a fawa #i
fhg aof & afmr B ?

(1) &f 3= 9g faee

(2) 9= A9 faw

(3) He® 999 fasma

(4) =1 A4 faem

g AFfE W fRae So-fafgar
ge-wife ud o § 7

(1) 14 (2) 18

(3) 20 (4) 24

B I, g g #1 ong §

(1) 3600 faferms ad 4 arfers

(2) 2600 e ad

(3) 1600 fferaT ad

(4) 600 fuferg ad

eha Te W

(1) COy, CFC, Sieamy, Waw, it
(2) COg, CFC, NO,, #1349, fam

(3) COg, CFC, Si@@r™, #Hiad, O,

(4) CO,, CFC, @am, HieH, NO,
frfifgs & & @H-G1 & &S

WA a @ I9 % fou Seer
TR ?

(1) T8/ ga+

(2) HFRE S & a9 Td qgordn

(3) ST €M
(4) g= 1 9o i
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to the Human
Index (Year 2012)
ranking, India is falling in which
category of human development ?

According
Development

(1) Very high human development
(2) High human development
(3) Medium human development

(4) Low human development

How many Bio-diversity Hot-spots
are found on the world map ?

(1) 14 (2) 18

3) 20 (4) 24

The age of our planet i.e. Earth is

(1) More than 3600 million years

(2) 2600 million years

(3) 1600 million years

(4) 600 million years

The Green House Gases are

(1) COgy, CFC, Water-vapour,
Methane, Argon

(2) COy, CFC, NOy, Methane, Neon

(3) COy, CFC, Water-vapour,
Methane, Oy

(4) CO4, CFC, Water-vapour,
Methane, NOy

Which one of the following is not
considered as responsible factor for
origin of oceanic currents ?

(1) Planetary winds

(2) Temperature and salinity of

Oceanic water
(3) dJet stream

(4) Rotation of earth
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$H-91 30 feg ¥ qaivs gEe Saed
FAT & 7

(1) 9 (2) zveMfaE

(3) TR (4) 99

W@%Wﬁi@ﬁaﬂmﬁa%

(1) 999 gaa9 T

(2) ¥ad

(3) SEE i ugfie gfe «
(4) Tft fseg o

@G g @ a2

(1) WA qat

2) fadgs a3

(3) =@ adt

(4) qft faaeg Tog €
gﬁj—mi‘wﬂaﬁﬁﬁwﬁmﬁwm
(1) o T AR

(2) TIE g

(3) wiE

(4) &1 TR

H-T o G Al Ry $ e
T g F HE o T 8 7

(1) HAIERAE

(2) EEg FMyager

(3) "I9S

(4) JI&dr

SEEl 9O
araferd B
(1) FEEE @ R s gdq
(2) G @ TRE 9dd

(3) RN wd wewg gdq

(4) TS Ud S gdq

Id § I=hie & o ITEF 3 IR
T&ga: I8 S §
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A

Which country produces maximum
rice in the world ?

(1) India (2) Indonesia

(3) Bangladesh (4) China

The Demographic Transition Modal is
based on

(1) Human Mobility

(2) Migration

(3) Natural Growth of Population

(4) All options are wrong

Love and Rayleigh waves are
(1) Primary Waves

(2) Secondary Waves

(3) Surface Waves

(4) All options are wrong

Which country has the maximum
population of immigrants ?

(1) United States of America

(2) Saudi Arabia

(3) France

(4) South Africa

Which paradigm focuses on the
consciousness and value of individual ?
(1) Behaviourism

(2) Environmental Determinism

(3) Humanism

(4) Positivism

Anatolian  Plateau is  situated
between .................... mountains.

(1) Carpathians and Dinaric Alps

(2) Pontic and Taurus

(3) Pyrenees and Atlas

(4) Elburz and Zagros

High-grade iron ore deposits in India
are mainly found at

(1) Bailadila (Chhattisgarh)

(2) Noamundi and Gua (Jharkhand)
(3) Gorumahisani (Orissa)

(4) All options are wrong

P. T.0.
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Yl W g4 W G a9 ¢
(1) ==H & ToeEET g & axE]

(2) TEH & THARNT 9 § AT

(3) T=W & TEAFNY q@ A HT
ST

(4) = P TR & A I
G HeH YW IS &l © ¢

(1) %ﬁ‘mﬁﬁm, Jo THo To
(2) I, Jo TdHo To
(3) , Jo THo To
(4) SR, Jo THo To
FIA-d7eT AR 8

(1) gt fear
OREGEERED

(3) el e

(4) TgdH e

o #2011 N TEOAT & AR
e T R dwmafad At #
HIEAT &7 90 Hiawd § st ¥ 7

(1) 1871 (2) 2 3T 1
(3) 3 3T 2 (4) 4 3R 2
et § | Fi-a1/@A-8 gafr &/8 7
q§ AG /SaErd ERINIEG]

CECL T
(i) T T - HHET
(i) s - AR
(iii) HTZH - R=
(iv) ST T -

(1) @), (i) T (iii)
@) @), @) 9 (@v)
3) (i), (i) AT (v)
@) (@), @), (i) 3N @)
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The gravitational force of the sun on
the earth is

(1) Equal to the gravitational force of
moon
(2) Almost double to the

gravitational force of moon

About half of the gravitational
force of moon

(3)

(4) Three times greater than the

gravitational force of moon

Where is the Valley of ten thousand
smokes ?

(1) California, USA
(2) New York, USA
(3) Arkansas, USA
(4) Alaska, USA

Call-center business is a
(1) Primary activity

(2) Secondary activity
(3) Tertiary activity

(4) Quaternary activity

According to Census 2011, how
many States and Union Territories
in India are showing literacy rate
more than 90% ?
(1) 1and1

(3) 3and 2

(2) 2and 1
(4) 4and 2

Which is/are correctly matched ?
Original Igneous/ Metamorphic

Sedimentary Rock Rock

(1) Limestone —  Marble

(i1)) Gabro - -  Serpentine
(iii) Mica —  Schist

(iv) Sandstone — Gneiss

(1) (), (1) and (iii)
(2) (), (i) and (iv)
(3) (i), (iii) and (iv)
(4) (), (i), (i) and (iv)
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foeied SaET % 89 ¥ uRd & hH9-9
2 g el § ?

(1) TR 3 E
(2) T ST 3T ST
(3) T WY 3R HENIE

(4) T T 25 vew

2011 F FTOHN & AR 9RA H a1
feFmgar (0 - 6 a9 oY) @

(1) 933 2) 927

(3) 919 (4) 909

FIfeTrEre MIAY TF I &
1) dar qE @

2) T de @l

(3) Tftad € H

(4) TS de @0l

TH P-4 I E, Tl omEen e K
FOMHS & 7

() BT

(i) S

(iif) T

(iv) T

1) @), @), @) AT Gv)

(2 (@), (i) T @v)

(3) (i), (iii) 3 @iv)

@) @), @) IR (@v)

T FT SRS qAT AT AT 2
(1) o TR
(2) = MR

(3) 3TMhfeEH HEMENT
(4) U HEMENT
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Which are the two leading States of

India in the field of oil-seed

production ?
(1)
(2)
(3)

Maharashtra and Gujarat
Rajasthan and Andhra Pradesh

Madhya Pradesh
Maharashtra

Rajasthan and Madhya Pradesh

and

@

According to Census 2011, the child
sex-ratio (age 0-6 years) in India is

(1) 933 (2) 927

(3) 919 . (49) 909

Kathiyawar peninsula is an example of
(1) Ria Coast

(2) Fiord Coast

(3) Emerged Coast

(4) Submerged Coast

Which are the
population growth rate is negative ?

(i) Hungary
(ii) Japan

countries where

(i11) Romania

(iv) Greece

(1) @), (i), (iii) and (iv)
(2) (), (i) and (iv)

(8) (i), (iii) and (iv)
(4) @), (i) and (iv)

The residual part of 'Panthalassa’ is
known as

(1) Atlantic Ocean

(2) Indian Ocean

(3) Arctic Ocean

(4) Pacific Ocean

P.T.O.
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deEe et & Fmior 3 R sEes @
(1) I=9 d9HE g fr=1 auf

(2) 3= A99E g W aut

3) 1 aE wd e gt
(4) M= qoe wg gegy ot

2006 ¥ @ HeH A T B A T8
qife o ?

(1) FRET TEIHES T

(2) FewiIEy Rrmfeea gfve

(3) MR TAIREe sifw Rt
(4) Fordmfrra swrieN faeen

SR e T e O o
et %1 T &

(1) ¢TKu & (2) cTWu aI

(3) ¢cTWs 1 (4) cTKs ERI

WA B A T I-Qd A
garell & aut @ mftq wear ® ?

(1) g

(2) g

(3) Mg W=

(4) TR

S, omg. uH. UF gt w9 2

(1) @ gfoarg afdea &
(2) TEd FHH ey @

(3) Frmfea ==l wfda @
(4) Ramrea semee Ry &
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Formation of laterite soil requires

(1) High temperature and low
rainfall

(2) High temperature and heavy
rainfall

(3) Low temperaturé and low rainfall

(4) Low temperature and moderate
rainfall

Which organisation declared Pluto a
dwarf planet in 2006 ?

(1) International Astronomical Union
(2) International Geographical Union
(3) American Association of Geography
(4) Geographical Information System

Tropical continental warm unstable
air-mass is denoted by

(1) cTKu (2) ¢TWu
(3) cTWs (4) cTKs

Which State of India receives rain
from north-east monsoon winds ?

(1) Tamil Nadu

(2) Orissa

(3) Andhra Pradesh
(4) Gujarat

GIS is an abbreviation of

(1) General Intelligence Surveillance
(2) Global Information System

(3) Geographical Inventory Service
(4) Geographical Information System

Level-3/169
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11.

12.

13.

14.

15.

16.

17.
18.

19.
20.

Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

O e O® &

The answer will be treated wrong, if it is marked, as
given below :

o ® © &

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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